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Hadiths Related to Conflicts among the Sahaabah: 
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Abstract: The study is about the Hadiths foretelling conflicts involving  Prophet Mohammad's sahaabah (companions). The purpose of 

the research is to collect all those Hadiths, to study them, and to draw appropriate conclusions. The study applies an analytical inductive 

approach. The study shows how the Prophet dealt with his companions in an exemplary manner despite his knowledge in advance of their 
future conflicts; the Prophet foretold them what would happen, yet there was no change in his behavior towards them. He continued to treat 

them as usual, gave them advice, continued good relationship with their families, mentioned their virtues wherever appropriate, and gave 

glad tidings to some of them. The study shows the companions as fallible human beings. What the companions did to one another does not 
annul their Islam, does not undermine their conveyance of the message truthfully,  nor does it undermine their good morals. The companions 

did not think their conflicts were going to be disastrous, and that is why they regretted what happened. They had to stop fighting once they 

were reminded of the Prophet's teachings. The research makes the following recommendations: Muslims ought to emulate the Prophet's 
example, particularly in discussing the sahaabah; the Sunnah should be  studied with an eye on the value of the sahaabah, and disputes 

amongst them should be researched for lessons to be learned by fellow Muslims; the mass media should refrain from feeding people with 

discords amongst the sahaabah in order to avoid tarnishing their image; educational institutions and curricula should promote love of 
the sahaabah. 

Keywords: sahaabah / Prophet Mohammad's companions – conflicts – Hadiths -  fallible / fallibility – prophetic prophecy. 
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